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‘ The following Pparticulars are obtained from the records ofa manufacturmg company:
: Cost per unit of a product:

Direct materials - sa .50
Direct labor : _ s 1.80
‘Variable factory averhead : 0.40 4
Fixed factory overhead . 0 40 & :
/ (Based on 1, 00, 00,000 units for normal productlon)\ £ =

. ,~Bale price per unit Tk. §
/ Selling and Admmlstratlve expenses:
g’ Fixed Tk. 22.000

us«._m__....,-:,

Varlable 10 % ofsales

Protfuctlon and sales units: ( g
5

- Year -1 Ye;rr = % Smf’“@ .

. Production : L0000 - 95000 .0 - AP
& : :
Closmg mventory 14,000 _ 9000 A=, ?;_______,.
/R/ qulred Prepare cost statements for both the years { : v/

(a) Absorptlon costing; and : 58 ; ' %5 ~

(b) Variable costing. ‘ ca VD \ "

Solution: » s _ z

Workings:

1. Manufacturing cost per unit under absorption costing:

i = Taka
Direct materials 1.50
- Direct labor S 1.80
__Variable factory overhead v 0140
Fixed factory overhead S 0 40 >
: 7
2. Manufacturing cost per unit under variable cgt_rgg_
S Taka k
Direct materials ' ‘ P 150
Direct labor 1.80 ; : : .
Var;able factory overhead 0.40 e ' S

&



Management Accounting

3. Under applied/absorbed fixed factory overhead for Year — 2:
= (Normal production — Actyal production) x Fixed factory overhead per unit
=(1,00 ,000 units — 95,000 units) x 0.40
= 5,000 0.40 = Tk. 2,000

4. Over applied/absorbed fixed factory overhead for Year — 1 _

/ =A(ActuaL_erg_duction — Normal production) x Fixed faétory overhead per unit
= (1, 10,000 units — 1, 00,000 units) x 0.40 '
=10,000 x 0.40 = Tk. 4,000 :

Required: (a) : = “‘T.'JVF Incomie statement

Under the absorptlon costing method

Particulars . L " Year—1
Tak_a Taka
| Sles (96,000 x 3), (1,00,000 x 5y - 4,80,000
LESS Cost of 00ds sold: 6) S g
N ’gf(m 000 x 4.10) D5 2

Total manufacturmg costs : 4,51,000
£l~=l-0,,000 X 4.10), (95, 000 x 4 L) 4,51,000
Less Closmo mventory (57,400)
(14 000 x 4.10), (9,000 x 4.10) 3,93,600
Over/ Under apphed fi xed Tactory ORl == (4,000) |_—

5 } __(3,89,600)

Gross profit 90,400

Less:Selling and Administrative expenses:
: Fixed - :
Variable (10 % of sales) . 48 e (70,000)

; Net Operating Income




